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QUESTION 1

A company is reviewing its critical success factors and key performance indicators So far. it has key performance
indicators for the following

The time to deliver orders for products Consumer satisfaction with products Wastage in product production The
qualifications of production employees

Which area of Kaplan and Norton\\'s balanced business scorecard has NOT been considered?
A. Learning and growth

B. Internal business process

C. Customer

D. Financial

Correct Answer: D

Kaplan and Norton\\'s balanced business scorecard is a strategic management tool that helps organisations to measure
their performance across four perspectives: financial, customer, internal business process and learning and growth. The
financial perspective focuses on how the organisation creates value for its shareholders and stakeholders. It includes
measures such as revenue, profit, return on investment and cash flow. The customer perspective focuses on how the
organisation meets the needs and expectations of its customers. It includes measures such as customer satisfaction,
loyalty, retention and market share. The internal business process perspective focuses on how the organisation delivers
its products and services to its customers. It includes measures such as quality, efficiency, productivity and innovation.
The learning and growth perspective focuses on how the organisation develops its capabilities and competencies to
achieve its goals. It includes measures such as employee skills, knowledge, motivation and empowerment. Therefore,
option D is the correct answer, as financial measures have not been considered in the given list of key performance
indicators. Option A is not correct, as learning and growth measures have been considered in the qualifications of
production employees. Option B is not correct, as internal business process measures have been considered in the time
to deliver orders for products and wastage in product production. Option C is not correct, as customer measures have
been considered in consumer satisfaction with products. References: BCS Practitioner Certificate in BAP Specimen,
page 17.

QUESTION 2
George and Laura are responsible for the marking strategy in a company vinyl records and cassette tapes online.

George feels that the company should focus its marking solely on people aged over 50, who are nostalgic for these
older recording media. He also feels that the company should outsource all marketing activity.

Laura believes that the business should continue with its target of people aged 30-60. As this age group are particularly
enthusiastic about vinyl records. She believes that marketing is one of their internal strengths and should remain in
house

Which specific areas of CATWOE are they considering?

A. Customer and Owner.

B. Actor and Transformation
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C. Transformation and Environment
D. Customer and Actor
Correct Answer: A

CATWOE is a technique for exploring stakeholder business perspectives by identifying six elements: Customer, Actor,
Transformation, Worldview, Owner and Environment. It helps to understand how different stakeholders perceive a
business situation or problem and what they expect from a solution. Therefore, option A is the correct answer, as it
identifies which specific areas of CATWOE are they considering respectively. Customer is the element that describes
who benefits from or is affected by a business situation or problem or its solution. It helps to identify who are the
recipients or users of value or satisfaction from a business situation or problem or its solution. George and Laura are
considering customer, as they have different views on who should be the target market for their products (people aged
over 50 vs people aged 30-60). Owner is the element that describes who has the authority or power to start or stop a
business situation or problem or its solution. It helps to identify who are the decision makers or influencers of a business
situation or problem or its solution. George and Laura are considering owner, as they have different views on who
should be responsible for marketing activities (outsourced vs in-house). Option B is not a correct answer, as it does not
identify which specific areas of CATWOE are they considering respectively. Actor is the element that describes who
carries out or performs a business situation or problem or its solution. It helps to identify who are responsible for
implementing or delivering a business situation or problem or its solution. George and Laura are not considering actor,
as they have no views on who carries out their products (although this may be related to owner). Transformation is the
element that describes what changes or processes take place in a business situation or problem or its solution. It helps
to identify what inputs are converted into outputs in a business situation or problem or its solution. George and Laura
are not considering transformation, as they have no views on what changes or processes take place in their products
(although this may be related to customer). Option C is not a correct answer, as it does not identify which specific areas
of CATWOE are they considering respectively. Transformation is the element that describes what changes or processes
take place in a business situation or problem or its solution. It helps to identify what inputs are converted into outputs in
a business situation or problem or its solution. George and Laura are not considering transformation, as they have no
views on what changes or processes take place in their products (although this may be related to customer).
Environment is the element that describes the external factors or constraints that affect a stakeholder\\'s perspective or
limit their options. It helps to explain what factors or constraints are beyond the stakeholder\\'s control or influence.
George and Laura are not considering environment, as they have no views on what external factors or constraints affect
their products (although this may be related to customer). Option D is not a correct answer, as it does not identify which
specific areas of CATWOE are they considering respectively. Customer is the element that describes who benefits from
or is affected by a business situation or problem or its solution. It helps to identify who are the recipients or users of
value or satisfaction from a business situation or problem or its solution. George and Laura are considering customer,
as they have different views on who should be the target market for their products (people aged over 50 vs people aged
30-60). Actor is the element that describes who carries out or performs a business situation or problem or its solution. It
helps to identify who are responsible for implementing or delivering a business situation or problem or its solution.
George and Laura are not considering actor, as they have no views on who carries out their products (although this may
be related to owner). References: BCS Practitioner Certificate in BAP Specimen, page 37.

QUESTION 3

Ajay works | the payroll department of his organization. Payslips for every employee are printed automatically at the
each month. He is about to distribute the monthly for each employee when he receives a notification from senior
management explaining that the wish to give everyone a 10% bonus, for exceptional performance in the least quarter.
Ajay is pleased with the bonus, but annoyed that the needs to re-print the monthly payslips.

Which types of business events can be identified from this scenario?

A. Internal and Time based.

B. External and Internal
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C. External and Time based.

D. Time based only

Correct Answer: D

A time based event is one that occurs at a regular or predetermined interval, such as monthly or quarterly. In this
scenario, the printing of the monthly payslips is a time based event, as it happens every month. The notification from
senior management is not an external or internal event, as it is not triggered by an external or internal stakeholder or

situation. Therefore, option D is the correct answer. References: Dependency arrows - IBM oop - of the UML arrows -
Stack Overflow

QUESTION 4

An airline has agreed that the following Key performance indicator (KPI) will help measure one of the airline\\'s Critical
Success Factors (CSFs) ?ustomer service. The KPI is the percentage of customers rating our service as excellent in an
independently administrator customer survey.

In the current year, the performance objective associated with KPI is 70%. The airline, therefore, aims for at least 70%
of customers rating its service as excellent.

Which of the following activities in a Business Activity Model would establish whether the KPI and its associated
performance objective is being achieved?

A. Monitor customer satisfaction.

B. Define customer satisfaction.

C. Agree performance objective.

D. Deliver customer service.

Correct Answer: A

The activity ‘monitor customer satisfaction\\' would establish whether the KPI and its associated performance objective
is being achieved, as it would involve collecting and analysing the data from the customer survey. The other activities

are

related to defining, agreeing or delivering customer satisfaction, but not measuring it. Therefore, option A is the correct
answer.

References:

12 Types of Business Events (Plus How They Can Impact Goals) | Indeed.com SysML Diagram Tutorial | SysML.org

QUESTION 5

The customer journey map below was created for Eyes 4\\'U. a chain of high street opticians This shows the journey of
a person who is 67 years old and retired with a limited pension and active social life

What are the MOST LIKELY statements to be in Box F and Box 6?
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Shop Reception Appointment Test Frame Lenses
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A. F concern at cost 6 provide clearer information on options and pricing

B. F: worry about choosing the wrong frame 6: introduce virtual frame selection technology
C. F provide clearer information on options and pricing 6 concern at cost

D. F pleased appointment ending 6 provide clearer information on options and pricing
Correct Answer: A

A customer journey map is a visual representation of the steps and emotions that a customer goes through when
interacting with a product or service. It helps to identify the pain points and opportunities for improvement in the
customer experience. A customer journey map typically consists of the following elements: stages, actions, thoughts,
feelings, touchpoints and opportunities. Therefore, option A is the correct answer, as it matches the elements of the
customer journey map for Box F and Box 6. Box F represents the feeling of the customer at the stage of choosing a
frame. The feeling is concern at cost, as the customer is worried about the price of the frames and lenses. Box 6
represents the opportunity for improvement at the stage of selecting lenses. The opportunity is to provide clearer
information on options and pricing, as this would help the customer to make an informed decision and reduce their
anxiety. Option B is not a correct answer, as it does not match the elements of the customer journey map for Box F and
Box 6. Box F represents the feeling of the customer, not an opportunity for improvement. Box 6 represents an
opportunity for improvement, not a feeling of the customer. Option C is not a correct answer, as it does not match the
elements of the customer journey map for Box F and Box

6. Box F represents the feeling of the customer, not an opportunity for improvement. Box 6 represents an opportunity for
improvement, not a feeling of the customer. Option D is not a correct answer, as it does not match the elements of the

customer journey map for Box F and Box 6. Box F represents the feeling of the customer, not an opportunity for
improvement. Box 6 represents an opportunity for improvement, not a feeling of the customer.

References: BCS Practitioner Certificate in BAP Specimen, page 23.
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